
Call us: 9100433442 | 9100433445                                                        www.excelacademy.com 
 

     EXCEL CIVILS ACADEMY 
DAILY CURRENT AFFAIRS 

                                                    Date: 23-04-2022 

 

1. Which of the following statements is/are correct? 

1. The legal powers of investigation of CBI are derived from the DSPE Act 1946.. 

2. CBI was set up by a resolution of the Ministry of Home Affairs in 1963 after Santhanam 

committee recommendation. 

 Select the correct answer using the code given below:  

 a) 1 only  

 b) 2 only  

 c) Both 1 and 2  

 d) Neither 1 nor 2 

 

2. Which of the following statements is/are correct? 

1. RAMP was formulated and proposed by the Government of India, for strengthening MSMEs in 

line with the recommendations made by U K Sinha Committee, KV Kamath Committee and 

Economic Advisory Council to the Prime Minister (PMEAC). 

2. RAMP is a World Bank assisted Central Sector Scheme, supporting various COVID Resilience 

and Recovery Interventions of the Ministry of Micro, Small and Medium Enterprises. 

Select the correct answer using the code given below:  

 a) 1 only  

 b) 2 only  

 c) Both 1 and 2  

 d) Neither 1 nor 2 

 

3. Which of the following is not a Rabi crop? 

a) Barley 

b) Linseed 

c) Mustard 

d) Sorghum 

 

4. As per IUCN Red List what is the conservation status of Pondicherry Shark? 

a) Endangered 

b) Vulnerable 

c) Critically Endangered 
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d) Extinct in Wild 

 

5. Which of the following statements is/are correct? 

1. Japan and Singapore have retained the joint top position in the Henley Global Mobility Report 

2022 Q1. 

2. Oman and Armenia are the latest destinations where Indian passport holders can visit without 

obtaining a visa. 

Select the correct answer using the code given below:  

 a) 1 only  

 b) 2 only  

 c) Both 1 and 2  

 d) Neither 1 nor 2 

 

6. Which of the following statements is/are correct? 

1. Nepal signed a framework agreement to join the India-led International Solar Alliance (ISA). 

2. Nepal is the fourth country, after Bhutan, Singapore and the UAE, where RuPay is live. 

Select the correct answer using the code given below:  

 a) 1 only  

 b) 2 only  

 c) Both 1 and 2  

 d) Neither 1 nor 2 

 

7. Consider the following statements: 

1. As per the World Gold Council report, of all the countries, India has the 2nd largest gold 

reserves in the world. 

2. India is the world’s largest consumer of gold. 

Which of the statements given above is/are correct?  

 a) 1 only  

 b) 2 only  

 c) Both 1 and 2  

 d) Neither 1 nor 2  

 

8. Which of the following factors will lead to the depreciation of rupee relative to dollar? 

1. There is an increase in the number of Indian nationals going abroad for higher studies. 

2. There is an increase in the number of foreign nationals coming to India for medical treatment. 

3. Currency war between China and the US. 

Select the correct answer using the code  given below: 
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 a) 1 only 

 b) 2 only 

 c) 2 and 3 only 

 d) 1, 2 and 3 

 

9. Which of the following statements is/are correct? 

1. The Five Eyes is an intelligence-sharing alliance consisting of the US, UK, Australia, Canada & 

New Zealand. 

2. AUKUS is a broader coalition of countries in the Indo-Pacific region to deal with China. 

Select the correct answer using the code given below:  

 a) 1 only  

 b) 2 only  

 c) Both 1 and 2  

 d) Neither 1 nor 2  

 

10. Which of the following statements is/are correct? 

1. Electoral bonds is an instrument through which anyone can donate money to political parties. 

2. The Electoral Bonds can be encashed by an eligible Political Party only through a Bank account 

with the Authorised Bank. 

Select the correct answer using the code given below:  

 a) 1 only  

 b) 2 only  

 c) Both 1 and 2  

 d) Neither 1 nor 2  


